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. With reference to the Indian Institutes of Information Technology Laws (Amendment) Bill, 2020,

consider the following statements:

1) The Bill seeks to declare five 111Ts set up under the PPP mode in Surat, Bhopal, Bhagalpur, Agartala,
and Raichur as institutions of national importance.

2) The Bill seeks amendment to the Indian Institutes of Information Technology Act, 2014 and the
Indian Institutes of Information Technology (Public-private Partnership) Act, 2017.

Which of the statements given above is/are correct?
a) lonly b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

. With reference to the Rashtriya Raksha University Bill 2020, consider the following statements:

1) The Bill establishes the Raksha Shakti University, Gujarat (established under the Raksha Shakti
University Act, 2009) as a University called the Rashtriya Raksha University in Gujarat.

2) The Bill declares the University to be an institution of national importance.

Which of the statements given above is/are correct?

a) lonly b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

. Which of the following are the provisions included in Industrial Relations Code, 2020?

1) Provision for two members instead of one member in the Industrial Tribunal.

2) Implementation of award in 30 days after Tribunal award.

3) Provision for RE-Skilling fund has been made in the law for the first time.

Select the correct answer using the code given below:

a) lonly b) 1 and 2 only c) 2 and 3 only d)1,2and3

. With reference to the Code on Occupational Safety, Health & Working Conditions Code, 2020, consider
the following statements:

1. Free health check-up thrice a year by the employer for workers which are more than a certain age.

2. Legal right for getting Appointment Letter given to workers for the first time.

Which of the statements given above is/are correct?

a) lonly b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

. With reference to the Social Security Code, 2020, consider the following statements:

1) The facility of Employees' State Insurance Corporation (ESIC) would now be provided in all 740
districts.

2) Employees' Provident Fund Organisation’s (EPFO) coverage would be applicable on all
establishments having 10 workers.

Which of the statements given above is/are correct?

a) 1lonly b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

. With reference to the National Service Scheme (NSS) Awards, consider the following statements:

1) The National Service Scheme (NSS) Award for the year 2018-19 will be given to 42 awardees in 3
different categories like University/ +2 Council, NSS Units and their Programme Officers and NSS
Volunteers.

2) ltis an initiative of Union Ministry of Education.

Which of the statements given above is/are correct?

a) lonly b) 2 only ¢) Both 1 and 2 d) Neither 1 nor 2

. Consider the following statements about Particularly Vulnerable Tribal Groups (PVTGS) in India:
1) The highest number of PVTGs are found in Madhya Pradesh.
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2) Absence of written language is one of the criteria for determining PVTG status.
3) There are 75 PVTGs officially notified by the Ministry of Tribal Affairs.
4) Bondas and Didiayis Tribes are included in the list of PVTGs.
Which of the statements given above are correct?
a) land3only b) 2 and 4 only c)2,3and 4 d) 1,2, 3and 4

8. Consider the following statements regarding Infrastructure Investment Trust (InvIT):
1) InvITs are mutual funds like instruments that are designed to pool small sums of money from a
number of investors.
2) InvITs are regulated by the Real Estate Regulatory Authority (RERA).
Which of the statements given above is/are correct?
a) lonly b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

9. With reference to Komodo Dragon, consider the following statements:
1) They are the largest and heaviest lizards on Earth.
2) The only island inhabiting this species is in Indonesia.
3) Its IUCN status is critically endangered.
Which of the statements given above is/are correct?
a) lonly b) 2 and 3 only c) 1and 2 only d)1,2and 3

10. Which of the following statements is/are correct?
1) Neutrinos are subatomic fundamental particles with no charge.
2) Neutrinos are created from radioactive decay.
3) A Neutrino Observatory is being set up in the Himalayan region.
Choose the correct option using code given below:
a) 1lonly b) 2 only c) 1and 2 only d)1,2and3
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